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Zahlenbeziehungen - Multiplikation

Name:

Stelle fest, welcher Buchstabe am besten die fehlende Gleichung aus der gleichen Zahlenbeziehung||Antworten

dar stellt.
1) 2.8=16 2) 6+9=54 3) 3.7=21 L
16:2=8 9¢6=54 7¢3=21
16:8=2 54:6=9 21:3=7 2
A.11:2=9 A.9:54=6 A.4e7=11
B.2:16=8 B.6+54=9 B.21+7=28 3
C.82=16 C.54:9=6 C.21:7=3
D.16+2=18 D.54+9=63 D.28:3=25 4
5.
4) 9+2=18 5) 4¢3=12 6) 10+8=80 6.
18:9=2 12:4=3 80:10=8
18:2=9 12:3=4 80:8=10 7.
A.18:9=9 A.12:4=4 A.80:10=10
B.27:2=25 B.4:12=3 B.8+10=80 8.
C.2+18=9 C.16:3=13 C.90:8=82
D.2¢9=18 D.3¢4=12 D.19:10=9 9.
10.
7) 9¢10=90 8) 2+10=20 9) 2+4=8 11,
90:9=10 10+2=20 8:2=4
90:10=9 20:10=2 8:4=2 12,
A.90:9=9 A.20:10=10 A.8:2=2
B.10+9=90 B.13:10=3 B.4+2=8
C.99:10=289 C.20:2=10 C.10:4=6
D.11+.9=20 D.30:2=28 D.5¢2=7
10) 3+.6=18 11) 5+10=50 12) 8+9=72
18:6=3 50:5=10 9.8=72
18:3=6 50:10=5 72:8=9
A.24:3=21 A.55:10=45 A.72:9=8
B.18+6=24 B.50:5=5 B.18:9=9
C.63=18 C.10+5=50 C.72:9=9
D.10:6=4 D.11+5=16 D.9.9=18
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Zahlenbeziehungen - Multiplikation

Name:

L dsungsschltissel

Stelle fest, welcher Buchstabe am besten die fehlende Gleichung aus der gleichen Zahlenbeziehung||Antworten

dar stellt.

1) 2.8=16 2) 6-9=54 3 3.7=21 L _C
16:2=8 9+6=54 7+3=21 C
16:8=2 54:6=9 21:3=7 2
A.11:2=9 A.9:54=6 A 4e7=11 C
B.2:16=8 B.6+54=9 B.21+7=28 3
C.8+2=16 C.54:9=6 C.21:7=3 D
D.16+2=18 D.54+9=63 D.28:3=25 4

5. D

4) 9+2=18 5) 4¢3=12 6) 10+8=80 6. B
18:9=2 12:4=3 80:10=8
18:2=9 12:3=4 80:8=10 7. B
A.18:9=9 A 12:4=4 A.80:10=10
B.27:2=25 B.4:12=3 B.8+10=80 8. C
C.2+18=09 C.16:3=13 C.90:8=82
D.2+9=18 D.3+4=12 D.19:10=9 o. _ B

0. C

7) 9+10=90 8) 210=20 9) 2.4=8 un_ C
90:9=10 10+2=20 8:2=4
90:10=09 20:10=2 8:4=2 2. A
A.90:9=9 A.20:10=10 A.8:2=2
B.10+9=90 B.13:10=3 B.4.2=8
C.99:10=89 C.20:2=10 C.10:4=6
D.11.9=20 D.30:2=28 D.5+2=7

10) 3+6=18 11) 5¢10=50 12) 8¢9=72
18:6=3 50:5=10 9+8=72
18:3=6 50:10=5 72:8=9
A.24:3=21 A.55:10=45 A.72:9=8
B.18+6=24 B.50:5=5 B.18:9=9
C.6+3=18 C.10+5=50 C.72:9=9
D.10:6=4 D.11+5=16 D.9.9=18
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